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Directions (Qs. 1-2) : Study the following information

carefully and answer the questions given below:

There are six people - A, B, C, D, E and F - each of them

having different ages. D is elder than A and B. F is elder than

E.A is elder than B. C is elder than D. If the age of F is 19

years, then the third eldest person is of 24 years.

1. What would possibly be the age of B?

(a) 18 years (b) 26 years

(c) 22 years (d) 16 years

(e) 28 years

2. Which of the following statements may be true on the basis

of information given above?

(a) E may be 20 years old.

(b) The age of C must be 26 years.

(c) Only C, D and F are elder than E.

(d) D is 23 years old

(e) None is true

Directions (Qs. 3-7) : Study the following information

carefully and answer the questions given below:

There are eight people- G, H, I, J, K, L, M and N-each of them

belongs to different states viz., Assam, Bihar. Karnataka,

Maharashtra, Pubjab, Rajasthan, Tamil Nadu and West Bengal,

but not necessarily in the same order. They live in an eight

story building having floors numbered one to eight - each of

them on different floor. (The Ground Floor is numbered Floor

No. 1, the Floor above it Floor No. 2 and so on). G lives on

even numbered floor. Three live between J and the Person from

Assam. Three persons live between L and G. The person from

Assam live immediately below Gâ€™s floor. N lives immediately

above Gâ€™s floor and immediately below Kâ€™s floor. G is from

Tamil Nadu. There are five floors between the floors on which J

and the person from Karnataka live. The person from west

bengal lives on the floor immediately below the floor on which

the person from Assam lives. H lives on the even numbered

floor. I does not belong to Assam. Three persons live between

the persons from Bihar and West Bengal. Four persons live

between the persons from Bihar and Maharashtra. L does not

belong to Rajasthan.

3. On which of the following floors does the person from

Bihar live?

(a) Fourth (b) Sixth

(c) Fifth (d) Eighth

(e) None of these

4. Who lives on the top most floor?

(a) K (b) G

(c) N (d) M

(e) None of these

5. To which state does J belong?

(a) West Bengal (b) Karnataka

(c) Rajasthan (d) Assam

(e) Punjab

6. Who lives exactly between H and L?

(a) M (b) I

(c) J (d) N

(e) K

7. The person from the state of Assam lives on which floor?

(a) Second (b) Third

(c) Sixth (d) Fourth

(e) Fifth

8. A tour and travel agency was sued by three customers as it

had promissed a discount on the holiday package but when

examined later, it was found that the agency had actually

charged 12 percent more than what other agencies were

offering.

Which of the following is an inference which can be made

from the facts stated in the above paragraph?

(a) Cheating may be a ground for filing a case.

(b) It is not a grave crime to charge extra money for

holiday package.

(c) Different tour and travel agencies charge differently.

(d) It is not essential to offer what has been promised

earlier.

(e) None of these

9. Which of the following symbols should replace the question

mark (?) in the given expression in order to make the

expressions â€˜J < Mâ€™ as well as â€˜H 3 Tâ€™ definitely true?

â€˜H 3 Mâ€™ = K ? T > J

(a) < (b) Â£

(c) 3 (d) =

(e) Either = or >

Directions (Qs. 10-14) : Study the following information

carefully and answer the questions given below:

In a certain code language -

â€œhe needs some helpâ€� is written as â€œtu gi ja leâ€�.

â€œneeds medicine and someâ€� is written as â€œle da tu siâ€�.

â€œsome know now helpâ€� is written as â€œtu pa gi kiâ€�
â€œnow and where goâ€� is written as â€œjo ze ki siâ€�.

10. What does â€˜da tu jaâ€™ mean in the given code language?

(a) now help medicine (b) he some medicine

(c) he now medicine (d) he needs medicine

(e) cannot be determined

11. What does â€˜leâ€™ mean in the given code language?

(a) some (b) and

(c) medicine (d) needs

(e) either some or needs
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12. What is the code for â€˜he know whereâ€™ is the given code

language?

(a) ja pa jo (b) pa ze ja

(c) da le ze (d) tu gi si

(e) Cannot be determined

13. What is the code for â€˜helpâ€™ in the given code language?

(a) tu (b) ja

(c) gi (d) either â€˜giâ€™ or â€˜leâ€™

(e) None of these

14. What may be the possible code for â€˜now medicine could

helpâ€™?

(a) gi da ki pi (b) ki da gi ze

(c) tu ki gi da (d) da gi le ki

(e) pa gi ki da

15. H is the father of J. J is the brother of L. N is the wife of L.

K is the son N. L and J are children of H. P is the wife of H.

K and Z are grandchildren of P. Who is the uncle of K?

(a) J (b) H

(c) Z (d) Cannot be determined

(e) None of these

Directions (Qs. 16-20) : In these questions, relationship

between different elements is shown in the statements. The

statements are followed by conclusions:

Give answer (1) if only conclusion I is true.

Give answer (2) if only conclusion II is true.

Give answer (3) if either conclusion I nor II is true.

Give answer (4) if neither conclusion I nor II is true.

Give answer (5) if both conclusion I nor II is true.

16. Statements: A < B < C < D = E < F > G

Conclusions:

I. G < C II. F > B

17. Statements:

A = B 3 C = D 3 E :

G Â£ F = E :

C > H

Conclusions:

I. A > H II. B 3 F

18. Statements:

P > Q > R > S < T > U > V

Conclusions:

I Q < V II. P > S

19. Statements:

J > K > L :

N < L < M

Conclusions:

I. K > M II. J > N

20. Statements:

A = B 3 C = D 3 E:

G Â£ F = E

C > H

Conlusions:

I. G = A II. G < A

Directions (Qs. 21-25) : In each of the questions below are

given two or more statements followed by two conclusions

numbered I and II. You have to take the given statements to

be true even if they seem to be a at variance from commonly

known facts. Read all the conclusions and then decide which

of the given conclusions logically follows from the given

statements disregarding commonly known facts.

Give answer (1) if only conclusion I is follows.

Give answer (2) if only conclusion II is follows.

Give answer (3) if either conclusion I nor conclusion II is

follows.

Give answer (4) if neither conclusion I nor conclusion II

is follows.

Give answer (5) if both conclusions I nor II is follows.

21. Statements: No book is a page.

All pages are markers.

All markers are articles.

Conclusions:

I. All markers can never be books.

II. All books are definitely articles.

22. Statements:

Some fruits are apples

All apples are guavas.

No guava is a banana.

Conclusions:

I. All guavas are fruits.

II. Some guavas are fruits.

23. Statements:

All locks are keys.

Some keys are pockets.

Conclusions:

I. No pocket is lock.

II. At least some pockets are keys.

24. Statements:

No books is a page.

All pages are markers.

All markers are articles.

Conclusions:

I. All pages are articles.

II. At least some articles are markers.

25. Statements:

Some fruits are apples.

All apples are guavas.

No guava is a banana.

Conclusions:

I. All fruits are bananas.

II. No apple is a banana.

26. In a certain code language â€˜in the collegeâ€™ is written as

â€˜471â€™, â€˜was in theâ€™ is written as â€˜451â€™, â€˜come to collegeâ€™ is

written as ; 730â€™, and â€˜college was funâ€™ is written as â€˜579â€™.

What does â€˜7â€™ stand for in that code language?

(a) in (b) the

(c) college (d) fun

(e) Either college or fun27. In which year did Avani start her business?

I. According to Avaniâ€™s mother, Avani has started her

business after 2006 but before 2009.

II. According to Avaniâ€™s father, she started her business

before 2010 but after 2007 and the year was a leap year.

28. Who among Meera, Jyoti, Pinki and Sadhana is the tallest?

I. Meera is not as tall as Pinki or Sadhana.

II. Jyoti is taller than Sadhana.

29. How is N related to M?

I. O is the husband of N.

II. Z who is the sister of brother M is the daughter of N.
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